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ग़عادلاتد৒ࡶජاീিࣱلزୌراउلඅ౶ید.
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راउلඅ౶ید. (٢x٢ + ٣y٢ − ٧)xdx − (٣x٢ + ٢y٢ − ٨) y dy = ○ ଔعادग़ v = y٢ و u = x٢ ඵෲ൝ৎرඵෝࣞਵر ۱۲)با
಻ൿൌৎناଌنعاढ़ل،ग़عادଔراउلඅ౶ید. با µدارد. = µ(x٢ + yم(٢඼່ଘالسازیඟࢂวষلاढ़٢)عاx٢ + ٢y٢ + x)dx + (x٢ + y٢ + y)dy = ○ଔعادग़(۱۳

ਗیبا॰د.) f د৒ࡶජاീিࣱلভหع df ৔وଘଥرا૕বهزउୌلඅ౶ید.(੬ࣚਵوراز رابا y(x٢ + y٢ − ١)dx + x(x٢ + y٢ + ١)dy = ○ ଔعادग़(۱۴
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